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VIl Semester 5 Year B.Com.LL.B./B.A.LL.B. (Maj.-Min. System)/B.B.A.LL.B.

Duration : 3 Hours

Examination, April/May 2022 (Dec. 2021)
LABOUR LAW - |

Instructions : 1. Answer Q. No. 11 and any five of the remaining

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

questions.

2. Q. No. 11 carries 20 marks and the remaining
question carries 16 marks each.

3. Answer should be written either in English or
Kannada completely.

Discuss the definition of “Industry” with the help of decided
case.

QIFS TIONY  Fmoobem  enda’’ o 539, 309, I3,

23235 20.

Define “Trade Union”. Examine the extent of immunities
available to Registered Trade Union from Civil and Criminal
liabilities.

TR0FT FOPUBIY, W, 00.J0. FRCOTHONT  FoA0F T "o
O ATT AR :mo éame:f m:ﬁsﬁﬂ@;m w@’ﬁru

Define ‘Retrenchment’. When the retrenchment shall be
treated as valid ? What are its effects ?

“TNFT  [LPNMRCAIBFOLTY,” TOLOXAD. 0IRTON ToLFD
HRARTDOTCDRY,  IHIZo LTI 2 93T
DOTTONS T 2

Discuss the liability of the Employer to pay compensation
under Employee’s Compensation Act.

TWFT IOT0 BHJICNITION  @RDes0 TOTIT  VER
2T, éod:& W33F20.

Outline the provisions relating to the welfare measures under
the Factories Act, 1948.

TEFING sHI0DT>, 194808 wam;fo TR BNY 30020
QTS YUTWOTNFTY, 2B0L00.

Marks :

Marks :

Marks :

Marks :

Marks :

Max. Marks : 100
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16

16

16

16
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Q. No. 6. Examine the different kinds of benefits available under

Employee’s State Insurance Act, 1948. Marks : 16

TOOOFE Do, @R Fo0T, 19483800, TRJME QAag
B, 03peRTINTDY, JeSOA.

Q. No. 7. Explain appointment, powers and procedure of authorities

[Inspectors] under Payment of Wages Act. Marks : 16

BT ToTeod SOHICPBRONG, Te, HETONY [faa'fqﬁ%oemi]
SexFS, SHTIONT =B ,8,030000 Q0A.

Q. No. 8. Explain the doctrine of Notional extension with the help of

decided cases. Marks : 16

DTFORO L, T, IO BHODTROON FORT QZTED A0
DBORD.

Q. No. 9. What is strike ? Discuss its procedure and prohibitions.
ma’%d QOTBER 7 BTT QINR WBY BTENFIY 3B AL

Marks : 16

Q. No. 10. Write short notes on any two of the following : Marks : 2x8=16

g5 BTGNS CINPYTTOR NTET, LTS B0 :

(a) Appropriate Government.
XRZ [EGFO.

(b) Standing orders.
AR OW GTESTID.

(c) Layoff.
emz:'i:a23 ey WOH.

Q. No. 11. Solve any two of the following problems : Marks :

2 FYNT CRPYTTECR BB AR, NFIY TOBOA.

(a) 35 women are employed in Vishaka Industries. Since only
four women workers having children below 5 yrs. of age,
the Manager of the industry refuses to provide creche for
the children. Is the refusal correct ?

QTF QOB AT 35 TONITIY Jex0T BRATTVT.

©R0E T Bonmor BRE, 5 THFIS BT BoBPTITIT.
STO0T TARFI ITFBIL, TARFINY, S TOT
ERUAS) LEATLD ATBORTVE. &8 V0TFOD mﬁofowz.zm ?

2x10=20
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(b) A Trade Union member who was poor but very popular

and who has not contributed to the political fund requests,
the help from general fund for his election. Trade Union
refuses to help from general fund for his election.
Decide.

FARXFT FOPT ACHARWT WES DX B, 0DTNT,
Sono Todecdd O ﬁ'.ramﬁowagt BABT TR, PAAT
B, WOTRHN FHCH WORTOTT. FToXFT FOPR) IH0D
[PECO ATFORBT. AFFORO.

Ravi, a driver with Rajasthan State Transport Corporation
was terminated on account of his eyesight problem. He
claimed retrenchment compensation. Is he fitted to it ?

BIS T, TRROOT ToRMT OF WOK  ANSTY,
WWUTTN FOT TREET O Q0WIT FOITIY, MO
ABRYRAYIT. ST e [RTH, ToTT TECLLO
BETE ?
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